S o ok & = ogE AL TERE ICIEEBER (h) OBRFEEZEATHE KRERIFRELEHRIZIIZAHNTEIIE 3T
20235 F - i =4 & iFaEJnJrFE RER M R ) (I BT B RN LI O B E TR A EHI B - AR KA -
4 5 EZ5S - 5 EZTS - 6 - 78 ETIE ES = E3E = 9H &t ES =
5 B |5EE LEFAE L] 5 B [pEE LEFRE L] = YELEIE 518 5 [pEE| B [hED LN 5TE B [hEE YELEIE 5 ElEE GER L]
1 1 1 1]+ 1| K IHES
2 2 2 218 2 | # 2 [+
3 3 3 3 1A 3 | Ik 31 H
4 4 4 4 | x 4 [ 1K 4 [ A
5 5 5 5 | Kk 51 & EES 5 |k
6 6 | & 6 6 | K 6 | H 6 | /K
7 718 7 11 7 11K 7| K
8 8|8 8 8 |+ 8 | &k 8 | £
9 9 | X 9 91 H 9 | IK 9 | £ X EA
10 10 | K 10 10| B 10 | 4K 0] B XA
11 [FIES 11 11k 1] & 11| B
12 12] & 12 12 | K 12| £ 121 X
13 13] £ XK 13 FHEEE 13| K 13| B 13| K
14 1418 R ERK | 14 hEEE 141 & 14 ] 1k 14] K
15 15 | K 15 hEZEE 5] & 15 | 1K 15| &
16 16 | 16 16] B 16 | & 16| +
17 17] 5k 17 171 & 17| K 171 8
18 18] K 18 18 | & 18| £ 18 | 4K
19 19| £ 19 19 | /K 19| £ BER 19| Kk
20 20] + 20 20 | 1k 20| H 20 | 7K
21 211 B 21 21 | 1k 21| A 21| K HXEER
22 221 B 22 22| £ 22 | K 2| % HEREER
23 23| X 23 23] A 23 | K 23] =
24 24 | K 24 24| 1k 24 K 24| B
25 25| K 25 25 | 1K 25| & IS 25| A HXEER
26 26| £ 26 26 | 1K 26| = IS 26 | A HEREE
27 27| £ SEH=E 27 27| 1K 2718 IS 27| Kk
28 28| B 28 HSAIYF 28 | 1K 28 | 1k 28 | K
29 29| A 29 HSRIYF 29| = 29 | 4k 29| &
30 30| W 30 HSRIVF 30|l A 30 | K 30| +
31| k 31| K 31| K

lllll HE EiE FHE E#E EE EiE E =& E EiE HE EE
THAEH 11 0 EHREH 15 0 EHAZEH 16 0 FHAEH 9 0 EHAZEH 9 0 FEHARZEH 18 0
AHAEH 15 0 KEAKREH 11 0 AHAREH 9 0 KEREE 19 0 ABKRER 20 0 ABHER 10 0
S B BB 4 20 #DIV/0! S B 3 BB 5 49 1.8 #DIV/0! S B E BB 4 20 #DIV/0! B E BB 1 2.0 #DIV/0! FEEBEEEL;  #DIV/0! #DIV/0! S B R B 4 2.0 #DIV/0!
REEBEER TS #DIV/0! #DIV/0! 1K B R B R 1 3.0 #DIV/0! IREEBEERITES:  #DIV/0! #DIV/0! REEBESRE TN #DIV/0! #DIV/0! 1K B R B R 1 45 #DIV/0! TREEBEERES:  #DIV/0! #DIV/0!
108 HE =& - 118 HE EiE —— 128 HiE =& — 1R EiE EiE = 28 i S — 38 FtiE £ <
EREE B EEIEETE HREH R EHIEETE G R EREE BRI ESIEETE HEER B |’ AER] BRI |hER REER B | BERS |hER REER EREE G G ST HREER EHKER
1|l H 11K HES 1 111K 11K IHES 1 ETE
2 | B AES 2 | £ 1 2 Tk 22 2 | £ 1
3 [k 3 [tk G i 3 [ % e 38 1 178
4 |k 41 EHA 41 8 1 4 14k 4| B 4 1K 1
5 | K 5| H EHA 5 |k 1 5 |tk 51 A8 5 |k 1 e
6 | £ 6 | Ik 6 | K 1 6|+ 6 | X 6 | K 1
[ BXE 7|k AES i 78 7 [ K 7 [ 4& i 0
8|8 B 8 | Xk 8 | & 1 8 | ik 8 | K 8 | ik 1
9 |k 9 | K 9 | £ EETEDETT 9 | ik 9 | & 9 | £ 1 KEKER
10| & 10| £ 0] B 1 10 | 7k 0] £ 0] B 1 EHE
11 ] K 1] £ 11| A 1 [FIES 11] 8 11 [ & 1
12 & 12| B 12k 1 12| £ 12 | 4K 12 & 1 ‘] 5
13| £ 13| A 13 ] 7k 1 13+ 13| & 13 | & 1
14| £ 14| k& 14| K 1 14| B 14| K HEEZE 14 K 1 =45
15| B 15] 7k EER A ES 1 15| B 15| K HEREE 15 | 4K 1
16 | A 16 | K 16 | 1 16 | X 16 | & HEREER 16 | 1
17| % 17| & 171 8 1 17 | & 17| £ 171 8 1
18 | 7k 18] £ 18| A 1 18] & 18| B 18| A 1
19| K 19] A 19 | & 1 19] £ 19| A HEREE 19 | &k 1 KEBEE
P IES 20| A 20 | k 1 20| = 20 | & 20 [ 1K 1 EEl
21| + 21| & 21| K 1 211 B 21| JK 21| K 1
22| B 22| K 22 % 22[ A RS 22| % 343
23| A 23 | & 23] £ 1 23| X 23 | 1k 23] £ 1
24 |k 24| & 241 8 1 24 | Kk 24| = 241 2 1 =45
25 | 7K 25| 25| 1K 1 25| & 25| B 25 | K 1
26 | A 26| B 26 | 4k i 26| & 26| B 26 | & 1 O
21| & 271 B 27 | 1k 1 27| £ 27| X 27 | 1k 1
28| = 28 | Kk FEZEE 28 | 1K 1 28] A 28 | K 28 | 1k 1
21 8 29 | k FREZEE 29 | 1K 1 29| A 29 | K 29 | K 1
301 A A ES piEfZZE] |30] £ 1 30k o[+ 1
3t o pt | | 1] 31| A 1 31k i + 4 | | 1 31| A 1

IIIII ETIE| 5 &1 18] s ETIE| 5 ETIE| 5 ETIE| =g ETIE| ]
EHKED 18 0 SLHAEH 16 0 EHAREH 15 0 L HAZEH 26 0 EHAEH 18 0 EHAEH 7 0
REH/KRZH 9 0 KEH®REH 11 0 KEAREH 14 0 KEREH 14 0 KHAEH 10 0 AKBH®ER 23 0
TH R R R 20 #DIV/0! T H BRI 2.3 #DIV/0! TH B EER T 1 20 #DIV/0! T B R 2.0 #DIV/0! T E B R 1 20 #DIV/0! T H R R 2.0 #DIV,/0!
BRI 6.0 #DIV/0! KBEEESRITEY:  #DIV/0! #DIV/0! KB R BRI 3.0 #DIV/0! RBEEERTEY:  #DIV/0! #DIV/0! KBEEBESRITYE  #DIV/0! #DIV/0! REEERSRITEY:  #DIV/0! #DIV/0!




